conv = mx.gluon.nn.ConvlD (channels=1, kernel size=3)
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conv = mx.gluon.nn.ConvlD(channels=1, kernel size=3, padding=1l, st:
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conv = mx.gluon.nn.ConvlD (channels=1, kernel size=3)

Shape inference will be used to determine ‘in_channels=4" automatically.

Input Kernel Output
0O 1 2 priy 25 22 15
2 1 1 2 0 1 2
32 2 3 11 3 01
2 1 2 0 0 1 1 2 0



conv = mx.gluon.nn.ConvlD (channels=4, kernel size=3)
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conv = mx.gluon.nn.ConvlD (channels=2, kernel size=3)

Shape inference will be used to determine ‘in_channels=4" automatically.

Input Kernel Output
0O 1 2 priy 25 22 15
2 1 1 2 0 1 2
32 2 3 11 3 01
2 1 2 0 0 1 1 2 0
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